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1. VRGNS iEd Wahea-ar fhaH IS SaY v e e ?

(1) wF == (2) S "= s
(@) TEWAWM (4) tew. e
Who of the following ha'ls correlated poverty with calories in India ?
(1) PXK Bardhan. (2) Dr. Monteksingh Ahaluwalia
(3) Dandekar and Rath (4) B.S. Minhas
2, 93 vy faal

WHE ST FHRIA FI0RAT Tt TR 2t ?

(a) ¥ee faceht aas

(b) e Sy e

() STaEHEN F

(d) TR S ihda &

() dferfa =

it 3R

(1) et T (2) TR BoRE T
@ @ ®I(C (4) FaB(d)F (e)
Choose correct option :

What does foreign capital include ?

(a) Direct foreign investment

(b) Foreign collaboration investment

(¢) Inter-Government loans

(d) Loans from international institutions

() External commercial borrowings

Answer options :

(1) All of the above (2) None of the above
(3) (a), ®) and () (#) Only (d) and (¢)

HeeAT KIS ST /SPACE FOR ROUGH WORK

- P.T.O.
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3. WAyt RV FEiE e MYHE T /A fSER e w2

4

s onfor gol a9Taga
sfyer TG

ARITEER MG AGwIvA

HAUL Tgsh

i WY

(1)

(2) S (c) @ () = (b) (3)  (b) S (c)

@ (b) 3 (d)

Which of the following are considered as the latest principles of co-operation ?

(d)

Voluntary and open membership

Maximum profit

Democratic management

International ce-operation

Answer options :

(1)

(a) and (c) @ (@and®) (@) @and(Q)

(4) (b) and (d)

HoAT HWAB AT /SPACE FOR ROUGH WORK
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4. SheT Jeqd dra 1afg fras.

ST SR A=Al WAy e
ufteee fommror URATS Wi
(a) - TR (1996) (@) TE AR
(b) e (1998) (i) TREE ARA
) Tasiea (1999) (iii) ITE ST
(d) AT (2003) (iv) hHCAY
() EFTRIT (2004) (v) W=
it Iy ;

@ (b (© @ (@
1 @) @ @) (v} @
2 O @ @ G )
@ @ G G @ (¢
4y v @ @ ) )
Match the following and choose the correct code.

Minister level conferences of WTQO :

Conference Venue Indian Representative
(a) Singapore (1996) (i} Ramkrishna Hegde
(b) Geneva (1998} (i) Murasoli Maran
{c} Ciatal (1999) (i} Arun Jetley
(d) Cancun (2003) {iv) Kamal Nath
(¢) Hongkong (2004) (v} Ramaiyyah

Answer options :

@ (B (@ @ (o
O v @ @ & @
2 @O @ @ @ ¥
@ @ @ ) @ ¢
@ v @ @ @ )

HEAT HIFEIES T /SPACE FOR ROUGH WORK

P.T.O.
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5.  YRANT WSl MY Hars SUr B[ aeSanTiel [ Huarar v Sived S gRom
QAR SHATAT ?

(1) 1991 9 EfTF drw 2) 1948 9 3iEAfiE ¥Rw
(3) 1956 & 3¥Eifie €0 4) 1977 = Srenfi gro

Which Industrial Policy in India promoted small-scale industry as ancilliary to facilitate
major industry ? .

(1) Industrial Policy of 1991 (2) Industrial Policy of 1948

(3) Industrial Policy of 1956 (4) Industrial Policy of 1977

6. SINARIFRIIEES HgT I STHedl SEenEeyid @eieds svR/d faum/ faum swew
e/ 3 ?

(a) wRare i fawma agusia sy feeia ot Heerqul fie SSauR 3.

(b) REE FIF TMHIEas JUT= W TEINE (stock market) SAFRRIHE! SYCH el S
TR |

ﬂ'ﬂft‘ﬂ'?iﬁt:
(1) () (2) & () (3) @) TR

In connection with emerging trends in era of globalization, which of the following
statement/s is/are correct ?

(a) MNC’s have now a definite and unique role in the sustained economic development
of India.

(v) Indian companies shares are being traded in European stock market.
Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

AT HIATHS ST /SPACE FOR ROUGH WORK
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7. G faum faearm =
(a) SRS S Fehed ifiE Hed s IuRARTE TEa <.
(b) 1960 WA U Tashra GE&=T TT= Fedl.
(c) STAWNT famm deen Seie T ¥ Srea Hed <.
et Fom /@ fqum/A =T e/ ?
(1) %K (g @ ®3E (3 (@3 (4) R
Consider the following statements :

{a) The world bank gives project oriented aid and program oriented aid.
(b) The International Development Agency was established in 1960.

(c) The International Development Agency gives interest free aid to the world’s poorest
countries.

Which of the statement/s given above is/are correct ?
(1) Only (a) (2) (b) and () (3) (a) and {b) (4) All above

8. e faur faamrm o,
(a) 1966 T ST TR Hor=A UG HEhRITd HehR ¢4 A6 dcd ThRe.

(b) 1966 AL MERULT TEhN! HWHAT YU WigTAeR HAGH =09 § 76 9 WihRal
IR

(c) 1995 Hed SRUET Wb FHH WHNTEEE FHad § Ao TehrIa T U @R,
TR HIvR/ o fam/ A st emR/q ?

1) @3() 2 @3
® ®FE (4 ==
Consider the following statements :

(a) The International Co-operative Alliance adopted new principle co-operation amongst
co-operation in 1966.

() The International Co-operative Alliance adopted new principle - Limited interest on
capital in 1966.

(¢) The International Co-operative Alliance adopted new principle duties for the
community in 1995.

Which of the above statement/s is/are correct ?
(1) (a) and (9) (2) fa) and (b)
(3) (b)and () (4)  All of the above

el SIS JRT /SPACE FOR ROUGH WORK

P.T.O.
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9. WY T FEUF AT TeidH ol Fdvipr=n a9t Bid ATat ?

(1) 9w R (2) ZEE WA <A I9H

(3) STFHTEIEE ST ST (4) Hfu IEEHd

Which of the following indicator is not used in the calculation of Human Development
Index ?

(1) Literacy rate (2) GDP per capita

{3) IMR {4) Agricultural Productivity

10. @i fagm fo=mad =,
(a) T . AEEH AT AAANGIEh a7 &3 URoT "iadr= fgat Fet,
(b) T I STeATel FIEHREN TS, 2000 9E HIGT Hel.
TR o/ q faum/S we /a2
(1) % (a) (2) w=(b) (3} (@39 () (4) AR T
Consider the following statements :

{a} The Government appointed the committee on banking sector reforms under the
Chairmanship of M. Narastmham.

(b} The committee submitted it's report to the Government in April, 2000.
Which of the statement/s is/are correct ?

(1) Only (a) (2) Only (b} (3) (a) and (b) (4) None of these

11. 3R SEM FISAl R ROl FeRe g AT Wi 9 ?

(1) =G Ehmi (2) onfeamEt (Tribal) el
(3) T Efm (4) T v TEhmm
What does Indira Awaas Yojana basically pr.omotes ?

(1) Urban Housing (2) Tribal Housing

{3) Rural Housing (4) Rural and Urban Housing

T THIATETS IFT /SPACE FOR ROUGH WORK
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12. HesRl qeaerie foaTorme Erefterien FIoR T4 ET 3ed 2
(1) T Y9, TUOES 0 s
(2) TR, Y YW AN AT
() I R, feqraa w<w sufor s
(4) FREE, AL YW ST SO Yo
Which of the following states are leading in co-operative marketing ?

(1) Madhya Pradesh, Uttarakhand and Assam

(2) Maharashtra, Andhra Pradesh and Tamil Nadu

(3)  Jammu Kashmir, Himachal Pradesh and Assam

(4) Jharkhand, Madhya Pradesh and Arunachal Pradesh

13. wHaW it faemmmaet ssm (faem 9 fag) S w1 Fvag 1w ?
(1) 1948 (2) 1951 (3) 1969 (4) 1973

For the Industrial development of India, when the Industry (Development and Regulation)
Act was incepted ?

(1) 1948 2) 1951 (3) 1969 @) 1973

14, @eia faum fa=mm =,

(a) 2009 HEA BIZA SHTA] L.P.G. foaeor Geagidt Usig medt wrEm wel S faaeo deen
& Fel.

(b) 2010 T TR UL fAehi vrumen 7= fefl,

(c) TR WL 2012 99 T faaom i giean faaendt=mn dsren a=rm e,
YR 0/ faum/H ges dE/a?

(1) e (b) (2) @73 @) (3) W (a) (4) AR TR
ansider the following statements :

(@) The Rajiv Gandhi Gramin L.P.G. Vitaran Yojana for small - size L.P.G. distribution
agencies has been launched in 2009.

(b) The Government approved National Telecom Policy (NTP) in 2010.

(¢)  The Government in September 2012 approved the scheme for Finance Restructuring
of state distribution companies.

Which of the statements given is/are incorrect ?
(1y Only (b) (2) (a)and (b) (3) Only (a) (4) None of these

AT FHES SR /SPACE FOR ROUGH WORK

P.T.O.
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15, HERIY dYSUN foee wemes (MSSIDC) Eielierdsh! HIviedl &5 &1 i 2
(a) R EEEE ddwriT faagEal.
(b) 3 il ergsei e H.
(c) TeR rEfsE ST,
(@) derE GEEE faayiaer ST
a6y
(1) (a) 31N (b) (2) (o) S () @) @ @) wWaw

Maharashtra Small Scale Industries Development Corporation (MSSIDC) functions in
which of the following areas ?

(a) Long term finance for purchasing of land.

(b) To assist SSI for import and export.

{c) To arrange exhibitions.

(d) To finance for the purchasing of machinery and equipment.

Answer options :

(1) (=) and (b) (2} (b) and () (3) (b) and (d) (4) Allabove

HOAT HIWMEIE IR /SPACE FOR ROUGH WORK
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16, WU STeqesh Fael & ~
(a) THF A=A
(b) d@ A=A,
(c) STICEHA AU HId Hd.
(d) fefs gga uga W,
e A e
1) @9 2 ®IE @) (©9F@) (4) =0 &
Effective transport system is :
(a) Helpful in saving fuel,
(b) Helpful in saving time. -
() Helpful in enhancing productivity.
(d) Helpful in enhancing economic growth.

Select correct options :

(1) (a) and (b) (2) () and (c) (3) (c) and (d) (4) All above

17. T SR §e9id Seliais :on faum ateat o) ?
(a) T EqHIHES Fa SV ST YU 1@,
(b) YRAK TR AEHIE AT TR 3R,
gty 3N ;
(1) (@) (2) B (b) @ (4) IO A
With reference to road transport, which of the following statements is correct ?
(a) Road transport adds to air and noise pollution.
(b) Road transport has limited scope in India.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

FHoAT HIMUS AFT /SPACE FOR ROUGH WORK

P.T.O.
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18. el g 9rg el fael.

HATS @ET
(a) T, SIEHURT & T
(b) wame faER
() RS
(d) ¥ ES
(e) WA A
qatEt 39

(@ (b} () (d) (e)
N @ @ ) (v §)
2 v @ @ @) ()
@ v O G 3§ @)
@ @) @ @) @Gv) (v)

Match the following and find correct code.

(d)
(€

Nature of work
Soil, Water conservation and Road

Jawahar well

Hortculture

Tree Plantation
Silk Production

Answer options :

)
@
)
Q)

@ () (& (d (e

@ 6 & o) @
) @ @ @) W
© O @ @ @
h @ @ @ ©

LLERL

T §aF 9 Tefawm I

FiY HETF 9 aRH FY FAHER
werg® dmae Afusnt 9 wrres
FYHI, WHISTH TR

TEH e, N SEM
YTTEEF, TS A TEHERR

Communication channel
Gram Sevak and BDO

Agricultural Assistant and Taluka
Agriculture Officer

Assistant Plantation officer and
Plantation Officer, Social forestry

Joint Director of Silk Production
Gram Sevak, Talathi and Tahsildar

oA HINTATE SN /SPACE FOR ROUGH WORK
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YEiet ferami=n fa=m =4 ¢
AT TSR AT - 1993 =41 TSHia ¢

faum (1) : T SR G H0ArAESt W0 srme Wearet faarmoit 100 feag s
R U IUET= T,

Taerm (I1) : WWWHWMWWWWW
oA At e,

ATAT | :

(1) faum (i) TR, faum (1) 9%
() faum (1) R, faym () 9%
() = faum sl

(4) <= faum 9=

Consider the following statements :
In the context of employment assurance scheme - 1993 :

Statement () : For eradicating seasonal unemployment, unskilled physical labour
employment is to be made available for 100 days in rural area.

Statement (II) : Creating future employability by creating permanent collective social and
econornic assets.

State :

(1) Statement (I) is correct, (II) incorrect
(2} Statement (II) is correct, (I) incorrect
(3) Both statements are correct

(4) Both statements are incorrect

HoAT FHIHEE AT /SPACE FOR ROUGH WORK

P.T.O.

B P S



HO8 14 A

20. WiEly fayum faar =.

(a) AR AgE U vt guRen i 3 feds, 2005 ISt §& 9.

(b) SAfuETTSEIT WRUAI T Qeli=Al THicHS faahrmR W 2uard 3.

(c) Tl i wrtor grENE FAE GUROT FHREHE SAEv 0% 3 A AEEE Shr,

AR T /@ fauH/A A SR/q?

1 @3 2 @3 3) @F0) (4) T (b)
Consider the following statements :

{a) Jawaharlal Nehru National Urban Renewal Mission has been launched on
3'd December, 2005.

(b) Focus attention on integrated development of infrastructural services in the cities
covered under the mission.

(¢} Mission mode approach was adopted for irrfplementation of Urban and Rural
infrastructure improvement programme.

Which of the statement/s given above is/are correct ?

(1) (a) and (o) (2)  (b) and (c) (3) (a) and (b) (4) Only (b)

HoAT HIAHS AT /SPACE FOR ROUGH WORK
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21. 9 i feel
T TR AEYfF WY (el Hivel Shr JHEY g A ?
(a) HegE MEEd e
(b) A Hal
() U Ha
(d) dre q aR Ea
(o) TEHEUA
() W W A
(g) -0 dam
Tatet I
(1) @%@ (2 (©% (e
(3) (d)F(e) (4) TRIeIH BroEE
Choose correct option :
Which of the following ultra - modern communication technology does niot include ?
(@) Cellular Mobile Telephone Service
(b) Voicemail Service
(c) DPager Service
(d) Post and Telegram Service
(e) Newspaper
(f)  Satellite Phone Service
(g) E-mail Service
Answer options :
(1) (a) and (b) ) (c)and (g)
(3) (d)and (e) (4) None of the above

el HIEE WU /SPACE FOR ROUGH WORK
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22. ete faur fa=ma =0 -

(a) 2001 B+ 10 TUEH TR Gt &y MSvarErd! FrleH deam b, e fadw e
T e,

(b) T 2011-12 UL I €A IS 80% T THAET USFIK 04 Fga.,

() 113 ARHA FaBUE 52 TS FHAHI 13 e 3.

FAIh! Hm/d fagm/ 3 sleR smR/a?

(1) (@3 () (2) (@3() (3) BFE (4) = (b)
Consider the following statements :

(a) The planning commission appointed the 5.P. Gupta Special Group on Targeting Ten
Million Employment Opportunities in 2001.

(b) Agriculture sector will provided about 80% of all jobs by the year 2011-12.
(c) The labour force is expected to increase by about 52 million during the 11! plan.

Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2)  (a) and () (3)  (b) and () (4)  Only (b)

23.

wrefterdst v/ A faen/ faur st g/ Aea ?

(a) 1904 = HEHN HFSN T-Had MU HEhEt=! Wi deid Aauar=d] I dHd HI0ITT
JTTAT BT,

(b) 1904 =1 HeATHl FAE AT HRAT HEhI (auas HEamn SuR T Sl

It Y

(1) 5 (a) (2) P (b) (3) I (4) HIOE A
Which of the following two statements is/are correct ?

(a) The co-operative Act of 1904 was passed to encourage self-help and co-operation.
(b) The Act of 1904 is still the basis of co-operative legislation in [ndia.

Answer options :

(1)  Only (a) (2) Only (b) (3) Both (4) Neither

HoAT TS AT /SPACE FOR ROUGH WORK
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24, VAW ST SR U TIEe®! SVl SN eheqma oaed B ?
(1) i wiferh T (CS0)
(2) Ao sftenfis smiteRtur (SIC)
(3) ienfis 3 fdera (IP)
@) foma Fews (PI)

Which one of the following statistical concept expresses the level of Industrial production
in India ?

(1) Central Statistical Organisation (CSO)
(2) Standard Industrial Classification (SIC)
{3) Index of Industrial Production (IIP)

{4) Price Index (PI}

25, ‘anfdfe GURWT' A1 Hheqrsiaa sderaeddiel ST TeSE! Ve 3T ?
(a) W 9 Frafdete Frefy w65 &,
(b) TR g2 FH FIO0.
(c) WIS TRUTET TqavH HL,
(d) T FEE fasig ARl gel wo
g g e
1) wfw wd @ @ O3 (@ (3) (a) b)) @) ®) () ()

Which of the following are structural adjustments in the economy under economic
reforms ?

(a) To reduce import - export restrictions

(b) To reduce fiscal deficit

(c) To invest in big cities only

(d} To open financial markets for foreign banks
Select correct 6ptions :

(1) Allabove (2) (@ B)and () @B) (a)(b)and(d) (4) (b),(c)and (d)

FoAT HAHES AR /SPACE FOR ROUGH WORK

P.T.O.




(@)
(b)
(©
(d)

(1)
()
3)
4)

(v)

(iv)

0
(@
()
)

18

wierg, SR
ElEsCIE IS T L
HeieT wrur

T e

Match the following and choose the correct code :

(a)
()
(©)
(d)

Plan

First Five Year Plan

Second Five Year Plan

Fifth Five Year Plan

Tenth Five Year Plan

Answer options :

D
(2)
)
@

@)
)
(@)
@
(@)

(b)
Y
®
(iv)
{iv)

(c)

(d)

0
(i
()
)

Objective

Rapid industrialisation
Improvement in ‘quality of life’
Top Priority to agriculture

Garibi Hatao

HoAT HWES W0 /SPACE FOR ROUGH WORK
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27. CESEITEN WiEiertsh! Yo TEAT SEt e o ?
() T ?ﬁmrnﬁ
(b) HEET G
() o fam
(d) w1 v
it I .
1) G @ (@)D (3) (o) ¥ (d) @) (@) = ()
Which of the following are the problems faced by small-scale industries ?
(a} Out-dated technology
(b} Efficient management
(c) Lack of finance

(d) Lack of competition

Answer options :

(1)  (b) and (d) (2). (a) and (b) (3) (9 and (d) (4) (a)and (9)

28. WA faum fa=mm =0,
(2) UL Y I AgHEAE T 1955 el HAe,
(b) N FEHSEl TOH IeW Y S A T R,
(c) Toieen e g FEwT= oo 1, 1979 7E Hel.
Flterda HivR/dF faur/A ' JAR/q7?
1) @3 2 ®»F0E G @9(). @ wdw=
Consider the following statements :
(a) National Small Industries Corporation was set up in 1955.
(b) The main objective of it's that to provide machinery to small scale units.
(c) The programme of District Industries Center was introduced in May, 1979.

Which of the statement/s given above is/are correct ?
1) @ad® () Gand© () @and() (@) Allof these

ol RHTAIS I /SPACE FOR ROUGH WORK
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29, TREVIH SV Weed [aavives (FDI) Hroid FIas s ?
(a) mfe gt
(b) T[AAUERIE TS aEd

(c) TR GUROM &

(d) T[AAERET 3 TWIIAHS T3

(e) M 3Nfo HeaToHeh araie fearehre el

qaidt 39T

1) (@), ®) ©. (&) (2) (@) (b) () (@)
3 ®), () @) @ 4) (@) () (@A) (e)
Which of the following are the benefits of FDI ?

(a) Economic growth

(b) Raising level of investment

(¢) Upgradation of technology

(d) Outflow of investment

(e) Develops human and institutional capabilities
Answer options :

® (@), b)C) @ @ @ ®)© @
3 ®) ©. @) (e 4) (@) ()

30. SaSHIHES et $Iv/ T Heh YRAd SURTHES] ST 3 2T/ 31ed ?
(a) IR T ASIRIST e T,
(b) TS HHA YURTAETE! &N,

gl 39T :
(1) W (a) @ Wb
(3) 3= (4) THEE TR

Among the following which is/are the challenge/ s for Indian industry created due to
globalisation ?

(a) Greater competition in product market.

(b) Pressure for improving technological capacity.
Answer options : -

(1) - Only (a) - (2) Only (b)
(3) Both (4) Neither

Hol HTATETS ST / SPACE FOR ROUGH WORK
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31.

21 HO8

a@amaﬁwaﬂa&mﬁ#ﬁ e d |m?

"N e RS R o el GYel HOIrE] Hest e S <t WO Yo Wiae A w9
",

(1) WL FHFH (2) <= TaEE

3) W "fapH (4) ST FH

Which monetary economist has given the following definition of money ?

“Value of money is its purchasing power over goods and services and can be known from
relative price level”.

(1} Prof. Crowther {2) D.H. Robertson
(3) Prof. Seligman {4) ]M. Keynse
32. @g wig fae

Y TS USITR EHT el 2004 WHie aLqat.

(a) @i 100 feaq TS €.

(b) R FAfHETAE! WS F H .

(c) USTIR U1 Siren fhAM Ja-rT .

Tt I

(1) @ w T

() ol gd TR .
@) (@7 @) T

(4) HaE (c) TR

Choose correct option :

Provisions in Employment Guarantee Act - 2004 of Government of India.
(a) Employment guarantee for 100 days in a year.

(b) Public work for employment generation.

(¢} Minimum wages to working person.

Answer options :

(1)  All the above are incorrect

(2) All the above are correct

(8) {(a) and (b} are correct

(4) Only (c) is correct

oAl HIATATS T /SPACE FOR ROUGH WORK

*P.T.O.
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33. wmiteh, onfife T fein waeiertor € forar=n gaetstue=t g am S deefis dema
EHROAT el ?
(1) et Ao (2) FEE A
(3) @Ml AT (4) TEHTE FeAl

In which five year plan, the trinity - Social, Economic and Gender empowerment - of
women’s empowerment was accepted ?

(1) Eighth Plan (2) Ninth Plan
(3) Tenth Plan (4) Eleventh Plan

34. e faurien faur =
SR Hef fa e e A T
faum (1) . sgren oA gE Qv AGfis e qYT I SR
faem (11) : Sa=n 3= TRiE § g |ivA € Iid 99 3.

HATAT |

(1) = foum 9=

(2) faum (1) s&, (1) 9%
() <= faum a3l

(@) faum (1) s=, (1) <55
Consider the following statements :

In the context inequal distribution of wealth and income, the characteristics of Indian
people are :

Statement (I) : Whose source of income is natural resources.
Statement (IT}) : Whose main and only source of income is his/her labour.
State :
(1) Both statements are incorrect
(2) Statement (I) is correct, (II} incorrect
(3) Both statements are correct

(4) Statement (II) is correct, (I) incorrect

HoAl HIETEG! AOT /SPACE FOR ROUGH WORK
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35, wehe B it Frfees drorst S omRa ?

(a) fomEET= SEwHE E srewae T dide For.
(b) TESTEH HAR WHIO HH FO.

(c) ST ST SE Tl &S qraao,

i I
(1) Fa2 (a) C (2 FEE ()
(3) (a) ¥ (b) (4) 0w wd

Which of the following is/are the objectives of disinvestment policy in India ?
(a) Releasing public resources locked up in non-strategic P‘SEs.

{(b) Reducing public debt.

(c) Transferring public sector risk to the private sector.

Answer options :

(1) Only (2) Only (9

{3) (a) and (b) {(4) Al of the above

36. @relrd faur fa=mm =,
(@ U@ TEE o ® 0d T et e e,
(b) 9 g 2013 WA A T TR 4.0% T FR D
(c) 11 3T 2012 LA Ffeh T@d o 1 9 30% Tfa Ft et T,
Tt Hva/ o faus/ S0t ene/a?
1) @%b 2 BF(E) () @ %) L@ ()
Consider the following statements :
(@) The Cash Reserve Ratio (CRR) is an effective instrument of credit control.
(by C.RR. was reduced to 4.0% on Feb. 9, 2013.
() On Aug. 11, 2012 Statutory Liquidity Ratio was reduced up to 1 to 30%.

Which of the given above statement/s is/are correct ?
(1) (a) and (b) 2) (b)and () (3) @and() =~ (4) Only(9
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37.

24 A

R =aaR TRIHIVITER TerEt Trvl & Siee Jehat STaaed 3T :
(a) SRR W&

(b) =HeERE GUEl fhwd

(c) e EERESET YHOET

(d) e
FUEALHT I/ T FRAT/A AR/ ?
1) @3 @ (©34@ (3) W (d) (4) T (a)

According to Fisher’s transactions approach, a demand for money depend on the following
factors : .

(a) The number of transactions

(b) The average price of transactions

(c) The transaction velocity of circulation of money
(d) Liquidity preference

Which of the given above options is/are incorrect ?

(1) (@) and (b) (2 (o) and (d) (3) Only (d) (4) Only (a)
38. =g g fae |
T, SR AA WA HICT FULES FIV HGE HArE RIERE Felt ?
(@) SR W (b) w W (c) igaeh & W
(d) <ort (e) =T '
TR 39T
1 @3 D) 2 FBEA () ©F() (4) oot T

Choose correct option :
Which tax was recommended by Prof. Caldor to replace estate duty in India ?
(a) Excise Duty (b)) Wealth tax  (c) Capital gains tax

(d) Gift tax (e) Expenditure tax |

Answer options :

(1) (a) and (b) ~ (2) Only(d)

(3) (c)and (e) - (4) None of the above
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39. Teuiel TEiAa fdl aeavaEet Eeiiads S SUEEsE Swe fan smEem (2005-10)
yafaeh s ? '

(1) " Sl AaTfershie Tamia W O T,
(2) fadhsletomen aiA T Q0.

(3) & snfYr et Sy

(4) 3nfs fasrar = 2w

Which of the following measures were recommended by Twelfth Finance Commission
(2005-10) to augment the consolidated fund of states ?

(1) Supplement financial resources of Panchayats and Municipalities
(2) Provide an impetus to decentralisation process
(3) Construct roads and bridges

(4) Push economic growth further

40. W'mamﬁm'w@mﬁmwwmmﬁqﬁémﬁ?
(1) @ (2) Y9
3) feeelt (4) VRRE

~

Which of the states in India was the first to establish a separate department for “Women
and Child Development’ ? -

(1) Kerala (2) Punjab

(3) Delhi : (4) Maharashtra

Hea]T HIATETS AR /SPACE FOR ROUGH WORK
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41, S WA ¥ WEIHRgH (NSSO) SRISFRIG! Hehed 1 fash foa Fva el 3R, Wiy !
(a) ST wEr Ferdt gt
(b) SV T STeaeara fedt <=t
(d) ST e ot feedt gt

FUTAURT HIVRT T FahraT 3T ?

(1)  (a) 2 @930 () ()= (d) (4) T (d)
National Sample Survey Organisation developed the concept of unemployment is as
follow :

(a) The usual status unemployment

(b) The current weekly status unemployment

(c) The current daily status unemployment

(d) The current yearly status unemployment

Which of the optioné given above is incorrect ?

(1) Only 2 @and(@ () (Gand@d @ Only(d)

42, @ faur faam =
(a) UL TeEt TG oAU A9 & GO dgoret aiHdr Jgdiet Sia T,
(b) AR iR TG G HUATHES! TR 2013 HEA €. TS witdre Fga e,
() TreA deeran od e 15% R SfGEREsn el 3.

il R/ A faum a/eR s/ ?
1) (@3 (2) WK (o) .
(@) @9®) @ 3

Consider the following statements :

(a) The national level poverty ratio is based on Suresh Tendulkar Committee
methodology.

(b) The Government setup a committee under C. Rangarajan to review the Tendulkar
methodology in 2013,

(c) According to the Planning Commission, only 15% Indians are below poverty level.
Which of the statement/s given above is/ are correct ?

(1) (a) and (c) (2)  Only (9

(3) (a)and (b} ) (b)and ()
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43. Y TR FHIVR TG TR IR 0 {95hd ST el Wailde Heqd Wi ol ?
() &F (b) <®
(c) demg (@) fame
it 39T :
(1) (@), (o) T (o) 2 (a), (b)F(d)
B) ®) (a@ (4 (@ (@3(@)
From production and sale of which of the commodities, does Government of India get
maximum revenue ?
(@) Opium (b) Liquor
{c) Tobacco (d) Cigarette
Answer options :
1) (a) (b) and (c) (2) (a), (b) and (d)
(3} (b), (c) and (d) (4) (a) (c) and (d)
44, G faum fagre =m0

(@) 2011-12 A a1 TN THSUEA Tegeld 37.4% 916 Hiel. A= o7 318 1 Fa1 FL
TSk ITAT HEwar=l | o SARTen 3R,

(b) TR ASHIHIE] FI& T T IS 1 . 2013 1 WYY VRAW & .

@ At FoR /9 faurm/A ai=w am/q?

(1) & (a) (2) K (b) 3) @IG)IF (4 TR TR
Consider the following statements :

(a) In 2011-12, growth in service tax revenue was 37.4%, which indicated that service
tax has been emerging as an important source of revenue.

(b) The Direct Benefit Transfer Plan was introduced on 1%t Jan, 2013 with seven schemes
in all over India.

Which of the statement/s given above is/are correct ?

(1} Only (a) (2) Only (b) (3) Both (a) and (b) (4) None of these
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45. 9T yar fae
Hfg ¢ B :
(@) ¥z wR figd dhag FAN I9a WA g o TR,
(b) Tt TR feetet ==t ot heariat WOl 39 2 8.
(c) TRl Il STIER, W Wisael W JisaTan Qe gara Ay
(d) wEHT IIET g @ Sy,
aqidr 3 ;
(1) (a) TR @) () W= (3) (o) T (4) () =
Choose the correct option :
Monetised deficit means :
(a) Net hike in advances of Central Government from Reserve Bank.

(b) Balance after paying interest from fiscal deficit.

{c) Total expenditure of government higher than revenue collection, grants, non
borrowing capital revenue.

{d) More revenue expenditure than revenue income.
Answer options :

(1) (a) is correct (2) (b)is correct (3) {c) is correct (4) (d) is correct

46, W.IAATFEAR. FEAH e 2.
(1) SR T e 3oL,
(2) WESF G TS FI,
(3) VRN A WHA WSqe Iroge Wa= <o,
(4) i WIS SEIT TAE F,
BIFR was supposed to deal with
(1} Revival of sick industries
(2} Privatization of public sector

(3) Approval to use of foreign capital in Indian industries

{(4) Financing large scale private industries

HeAT HATEIS ST /SPACE FOR ROUGH WORK
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47. X TEYY, WA IO AR AaGs SO gRIN, Geieis! I IUE H-GERoT
it gafaer g ?
(1) SRR A0 FFHiad F MR
(2) I R M0 Y FLSUR
(3) H X X U Hepfed HL AN
() S T I M W T IMYR

To make tax-revenue more elastic to growth of GDP, which of the following measures
_ were suggested by the tax - reform committee ?

(1) High tax rate and narrow tax base
(2) Higher tax rate and broad tax base
(3) Lower tax rate and narrow tax base

(4) Lower tax rate and broad tax base

48. MRTP Sel TSk &IGH 2009 Tl ™S FAT AR FEars T4 B,
(1) (2 i TR
(B) TR HE (@) Sehfie 9o 39 (2009)
MRTP was replaced by in 2009.
(1) FEMA ' (2) Competition Act
(3) AFSPA (4) Industrial Policy Resolution (2009)

49. T faur fa=mm =.
(a) 2006-07 AEA FE HUAT WA F SIAWA T 31% Tl
(b)- TN Tegeed S0t 09 A waifis TR,
TAUH! HoR/ o Faur/S st eR/a7?
(1) wH () @) W () ®) @30 (4)
Consider the following statements :
(a) The share of central taxes in 2006-07 was 31% of the total tax revenue of states.
(b) The corporation tax is the largest contributor to the tax revenue of states.

Which of the statement/s given above is/are correct ?
(1) - Only (a) (2) Only (b) (3) (a)and (b) (4) None of these

" FSAT SHIHMETST AT /SPACE FOR ROUGH WORK
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50. HNIZ IIG] Sgled] Wealts deqdiel wd U GUalt =shdi@ 41 2 (ACGR) Todt
B?
(1) 832Fh (2) 86 TFH (3) 87 TFk (4) 82TF*
What was the Average Compound Growth Rate of gross production in Maharashtra
during tenth five year plan ?
{1) 8.3 percent (2) 8.6 percent (3) 8.7 percent (4) 8.2 percent
51. AN SHAl AASE@ TG YHEa HEt W WH T GG UGS J9a AR 4l
HITIRN & TRUdTd ?
1) e e TORR (2) @ T O
(3) YRe (4) Flderda! HIvRE AR
The commercial banks have to use some proportion of their cash to buy government
securities. It is called as :
(1} Statutory Liquidity Ratio {2) Cash Reserve Ratio
(3) Reporate (4) None of the above
52. Ay ag e
TERTET=] Adfaed= 3= afemey :

(a) YIRGT=N TRV ANEE ST HERTEE e 12.7% T,

(b) WRATSH THY SfAArETET At SAART TERLTE e 16.4% 2T AR,
(c) VIR ST HRRTZ 61939 =1, T 1. &R T8 oTR.

(d) 2001 =1 FETVATER SUTE TR SIhEEIT HereeN 9.32% ThEeE Bl
it I ;

1 @ @ ®0

@) @ (4) =

Choose correct option :

Salient features of economy of Maharashtra :

(a) In total cultivated land of India, the share of Maharashtra is 12.7%.

(b} In total irrigated area of India, the share of Maharashtra is only 16.4%.

(¢) In Indian forest, the share of Maharashtra is 61939 sq.k.m.
(d) As per census of 2001, in total population of India, Maharashtra’s Population was

9.32%.
" Answer options :
1) () {2} (b} and (g
(3) @ ' (4) Al the above

oAl HAES W /SPACE FOR ROUGH WORK
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53. @ dgaHL (2009) WHAH STNET G IHE Tgdiae o FE1 Srafaear &1 o

(a) STIHIH

(b) =ereTe i Hery fdvis

(© == s

(d) wEER fasor 9 s giagien [Ee

Ui 3]

(1) = (), (b), () (2) = (), (b), ()
(3) aE (a), (0). (d) C (@ A ), (), ()

The Suresh Tendulkar Committee (2009) has pointed out the three deficiencies in earlier
poverty estimation methods. They are :
(a} Outdated food articles
{(b) Defective inflation index
(c) Birth rate index
{(d)} Facilities given by Government in education and health
Answer options :
(1} (a), (b), (c) of above (2} (a), (b), {d) of above
" (3)  (a), (c), (d} of above {4) (b}, (0), (d) of above

54. Yeid faumian fa=r =
faur (1) : Im=Ee =N fvamed gader feier gl TR SR e 39 e dE g
R RGIGN '
faur (1) : 3=1 Tt Yvaren HIg oo ST 9o, Sheeld UEar M 9 T SdE
AT Bl
AT |/
(1) faum (1) SO, (1) g
@) faum (1) WK, (1) 5F
@) [ foum g%
(4) <R fam SR
Consider the following statements :
Statement (I} : Generally, the money that can create credit money is called high powered
money.
Statement (If) : High powered money includes currency in the hand of people, liquidity
of banks and other deposits
State :
(1) Statement (I) is correct, (II) incorrect
(2) Statement (II) is correct, (I} incorrect

(3) Both statements are incorrect
(4) Both statements are correct
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55.

32 A
ECISIGACCIEREE KGR
() 2014-15 A& TERTZr=N Qe &era Tk <X 10.8% B,
(b) 2014-15 A& HEN ToAIATA T SAGAT Hall GATET |12l 51% Bl
(©)  2012-13 HEA AR T TCAIATG SUTRATG SR SAT= 3T 22% Tl

FleTIHh! FIvr/dt faum/= aET aR/a ?
1 @3(@ 2 @3(@®)
@) ®3() (4) HH (9

Consider the following statements :
(a) The growth rate of service sector in Maharashtra in 2014-15 was 10.8%.

(b) The share of services sectors in Maharashtra’s Gross Domestic Production was 51%
in 2014-15.

(¢) The share of construction sector was 22% in the Maharashtra’s State Gross Domestic
Production in 2012-13.

Which of the given above statement/s is/are correct ?

(1) (a) and () (2) (a)and (b)
(3) (b)and () ()  Only (o)

56, WRA STl GAlai®! SEd-Farum=a fivr sEwmeiata e F4 m@ a=
™7
(1) TAIFRIYL (2) F[IAIE. (3) TESLSELIE 4) HHEiwa.
Which of the following anti-poverty programmes of the Government of India provided
subsidised food to the poor people ?
(1) NREP (2) IRDP 3) SIGY (4) PDS

57. WRAW 14 <31 fa SR 9iga =M Somat FgEdt Hiohe e ?

(1) faa Fa (2) o aEEL G

(3) ghadm (4) 379 WRIE TR

Who was appointed as the Secretary of 14 Finance Commission of India ?
(1) Vijay Kelkar (2) Dr. Y.V. Reddy

(3) Sumit Bose (4) Abu Saleh Sharif
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58. TR faumr=n fa=m &

HERTSTA 1 GEahR &roT=a forehremaierd «

faum (1) : TERE TeaTd i TR USOTO WErl AT 91T 12.5% IR,

Forarr (11) : eI 229 Wehr Vel W T M 11000 TR & ANESETe vl 8.
ST | ¢

(1) faum (1) SO, (1) 9

(2) faum () ==, () 75

(3) TR ﬁﬂzﬁ ELER

(4) < o 9%

Consider the following statements :

In the context of development of cooperative sector in Maharashtra :

Statement (I} : In total employment sector of Maharashtra, the share of cooperative
sector is 12.5%.

Statement (II) : There are 229 cooperative agriculture institutions in Maharashtra, that
has brought 11000 hectre area under cultivation.

State :

(1) Statement (J) is correct, (II) incorrect
(2) Statement (I} is correct, (I) incorrect
(3) Both statements are correct

(4) Both statements are incorrect
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59. 9rYg gaig e
AT Tt St (2 tfaRie 1980) st wivrar I Fem 9 I i sise g& +an
e ?
(a) UL UTHI ASOTR HTshHA
(b) Aol Y FeFTr Bt FrdHA
(c) 3TafaT UK HTdsHA
(d) AWEHE FSIR AT

(e T=@H
gt I
1) (&) (©F(d) 2) ®3)
(3) IS (e) 4 ®) ()

Choose correct option :

Which of the following poverty eradication and employment generation programme was
incepted in India on Gandhi Jayanti (2" October 1980) ?

(a) National Rural Employment Scheme

(b) Rural Landless Employment Guarantee Programme
() Employment Assurance Scheme

(d) . Prime Minister Rozgar Yojana

(e) TRYSEM
Answer options :

(1) (@) () and (d) (2)  (b) and (d)
(3) Only (e) (4) (b) and (e)

60. WIS IV AFTOIST S FIHears SRl a2
(1) SAdTEEde teren Rasad g5t
(2) <RI TEHY e
(3) frafia @
@) I Te
Which of the following is not a cause of demand pull inflation ?
(1) Increase in money supply in the economy

(2) Reduction in savings of people
(3) Risein exports
(4) Increase in wage rate
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61. Sl Woodd ARG 7419 =

(a)
(b)
(€)
(d)
(€)
()

o= s =

UV FEU YA SR gt
SISHIET Tl T |t

HIHU J88 AREE] Hfiet

i FRw faws afid

e Tl st Wit

Ha HEFR 9ol a3t Wit

quiEt 3T :

(1)
(2)
(3)
(4)

@ ) (@ () (e @6
@ @ @@ @) ) (v
(vi) (v) @) @ (@) (v)
(v) @ @) @ (v )

(
(
(
VM) (v) (v) (@) @) 6

11

S’

Match the following and choose correct code.

()
(b)
()
(d)
(e)
(f)

- Irrigation Task Force

Fact finding committee of drought area
Eight month Water Distribution Committee
Konkan Master Plan Committee

Regional Backlog Committee

Mumbai Water Supply Committee

Mumbai Metro Water Supply Committee

Answer options :

(1)
(2)
(3)
(4)

@ ) © @ () @
@ @ @ @) ) W)
(vi) (v) (@) @ @) (v)
@) @ @) @ ((v) (@)
(vi) ( @) (@ @

i

"y

11

v) (iv)

i

S’

O 99
1984
1981
1995
1979
2000
1973

Year of Establishment

1984
1981
1995
1979
2000
1973

HO8
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62, WRAIS N gfawn fawar Sfireg o .

(a) A FfAETE @A e ST T

(b) T S e ST fawe

(c) =iwa anftr Gu Fmien gehd A

oAl ST .
(1) 9 (a) (2) F9% (b)
3) Fa&@ (c) (4) =0 &

Expansion of infrastructural facilities in India is characterised by
(a) Provision of infrastructural facilities mainly for the urban areas
() Inadequate development in rural infrastructure facilities

(c) Bias in favour of rich and more affluent

Fill in the blank.
(1) Only (a) (2) Only (b)
(3) Only () (4) All of the above

63. NSSO  feetear aienTi=an SAreITaR defaTei SOsr =os SUsFRy=
(1) fr e sEen
(2) wrafEes
(3) <f® sraeen
(4) ¥ Tsmd

As per the definition of unemployment given by NSSO, chronic unemployment means

(1) Usual Principal Status Unemployment
(2) Weekly Status Unemployment

(3) Daily Status Unemployment

(4) Underemployment
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64. WRIAIH! IO WRATEAT HRTTreal digae gate 9 A ?

(1) s @

(2) TS it wfes fasmmEla w

(3) AT SO |

(@) wEEHRY Ay '€

Which of the following is not a part of capital expenditure of Central Government of
India ?

(1) Expenditure on defence
(2) Expenditure on Social and Community Development
(3) Interest payments

(4) Expenditure on general services

65. TERIYNIT SSHHAHEY 2015-16 T TahONg Fear a2l o TR Y= arel
2.
(1) 7.8% & 75% 2) 74% 975%
(3) 159% & 7.4% 4) 78%d74%

The share of renewable energy in electricity generation in Maharashtra has been
in 2015-16; while that of Tata Power has been

1) 7.8% and 7.5% 2) 74% and 7.5%

(3) 15.9% and 7.4% (4) 7.8% and 7.4%
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66. @ElA faum faamm =.
(a) 1985 HEA YR WTHRA WAEARTS o famr diemn g .
(b) 1999 ¥ @AY fewiart T e i fam AT e .
FSATH) B/ fauF/A ang s/ ?
(1) K (b) 2 @3ap () W@ (4) TR R
Consider the following statements.

(a) The Government of India launched a comprehensive scheme of crop insurance in
1985.

() National Agricultural Insurance Scheme introduced for Kharif crop in 1999.
Which statement/s is/are correct from above ?

(1) Only (b) (2) (a) and {b) (3) Only (a) (4) None of these

67. @i four fa=md =
(a) TUFHA AH-HSH Al fedsr, 2000 AL GE Fdil.
(b) o ASEE T THETHE WO et e .
(€) 500 Fihawdl STHAEIT Ty T Glaen T M A9l § 91 Aeiian &7 I 3T,
et Fori/A faam/ T altat SR/ ?
1) K (a) 2 ®F(© @) @%@ 4 @3 ()
Consider the following statements.
(a) The Pradhan Mantri Gram Sadak Yojana was launched in December, 2000.

(b} Itis fully funded by state government.

(c) The objective of providing connectivity to the eligible unconnected habitations-in
the core network with a population of 500 persons.

Which statement/s is/are correct from above ?

(1) Only (a) (2) (b)and () () @and() (9 (a)and(b)
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Srean e 9 i e
widt

(a) el shidt

(b) T i

(<)
(d)
(&)

I il

LS wi

¥ i

() Taaah swidt
gaiat 34T

@ ® ( (@ (¢
1 @ @ ¢ ) @
2y () (v) Gv) (@) ()
@) O @ @) @) (W
@ &) (v @@ @ (i)

39

e

() o« feaToETEa
(i) TS (SHTHEER)
(i) TSI
(iv) FEEEE
(v) TeiveaEET
(vi) STegmET=d

(f)

(vi)

(i)

(vi)

V)

Match the following and choose correct code.

Rainbow Revolution of New Agricultural Policy.

Revolution
(a) Silver Revolution
(b) Pink Revolution
{c) Transition Revolution
(d} Gray Revolution
(&) Golden Revolution
{ff  Yellow Revolution
Answer options :

@ (b) () (d) (e
® 0 @ © W @
@ @) & @ @ ©
G O @ @ ®

@ ) () @ @ (@),

Context
(i) OilSeeds
(i)  Fruit (Pineapple)
(i) Fertilizers
{(iv) Spices/Condiments
(v) Shrimp '
(vi) Eggs

(f)
(vi)
@
{vi)
v)

HO8
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69. MRS IS FUd w1 FAlG FammE! 1973 Well S0 HAE TR HOAE 3T
o 1 ST 1974 A 1 @0 S79F SR e ?

(1) T2y fafa =Heees e (FEMA)
2) fadia SaERA S SATERE FTT FEE (FRBMA)
@) sErEEE (fawm anfn FEaa) S

4) faw fafma femm s

To control the operations of MNCs in India, which Act was promulgated in 1973 and it
came into force on January 1, 1974 ?

(1) FEMA (Foreign Exchange Management Act)
(2) FRBMA (Fiscal Responsibility and Budget Management Act)
(3) Industries {(Development and Regulation) Act

(4) FERA (Foreign Exchange Regulation Act)

70. UL 9@ dE@H G QSRR 9191 SHI9Rd Ye9l a9 373 eRd wHt w2
(1) 1951 (2) 1958 (3) 1977 (4) 1985

When did National Development Council recommend the enfry of Govt. of India into
food trade ?

A

(1) 1951 (2) 1958 (3) 1977 (4) 1985
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71. @i faumi=n fa=sm =

WRaTdel GURen HEHT GEvid

foqum (1) - T 1947 - 48 TYA UHW Srft=a01 57% ST SAHAGRT § AIH[EIR! Sgdren 3fava
Id B

faum (10) TSR Ugd € FRaER=T el srenfid g,

gt I

(1) faum (1) =R, (1) g%

@ fauw qn W, (1) 3%

@) IR fm s

(4) D= faum s

Consider the following Statements.

About land reforms in India :

Statement (I) : In 1947 - 48, 57% of total farm land was under Zamindari and Malguzari
system.

Statement (I} : Zamindari system depended on the exploitation of farm labourers.
Answer options : '

(1) Statements (I} is correct, (II} incorrect

(2) Statement (II) is correct, (I) incorrect

(3) Both Statements are incorrect

(4) Both Statements are correct

72, HEITEA [ PEAEREE 9 Y$ Y SRS 99Ed YR gfayn g (CMP) SifaRiss,
2003 T} HrEi-rg e, a1 AIeHE1 T Ie¥ w1 AR /3T ?
() WA Foee Taiadiel SR g9 Fehr) Qi [Fesie FTo,
(b) VIS UHIGSEIE ol 7Y IEUEATSAT IUEd GURUN TS SAI0M,
(1) ¥ () (2) % (b) @ ¥ @) T
Which one of the following is/are main objective/s of a Centrally Sponsored Scheme

‘Strengthening Infrastructure for Quality and Clean Milk Production” (CMP) launched in
Qctober, 2003 ? :

(a) Revitalizing the Sick Dairy Cooperative Unions at the District level in the country.
(b} Improving the quality of raw milk produced at the village level in the country.
Answer options :

, (1) Only () (2) Only (b) (3) Both (4) Neither
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73. 9 g fEel
A G Tgda IRumH M 92
(a) Tu=i=lt = (b) THwdl 9 39 AEwH F
(c) Y= SR (d) SIREM WiHRR famr
() T ITSARIT ()  YuRen 9gal
it 36t
1) (@) b9 (2) (d)F(e)
@) = wd g% (@) b wel TR

Choose correct option.

Factors éffecting Indian Crop Pattern :

(a) Crop rotation {(b) Maximization of Price and Income.
{c) Size of farm (d) Risk coverage insurance

(e) Availability of Input (f) Land holding system

Answer options : :

® (), ® and (9 (2) (@) and (o

(3) All the above are incorrect (4) All the above are correct

74. el faun faEm =0
(a) TF FH FAHE A WA 2007-08 HEA FE HOAT AT,
(b) THEM %ele FE A sicEsE SR, 1998 TEA F0G A9 3T,
(0 U F Famn drom YRR 16 TR SO S0, '
et o/ @ e/ e sw/q?
(1) W (a) (2) WH(9) @ @9 (4) §d TR
Consider the following statements.
(a) Rashtriya Krishi Vikas Yojana was launched in 2007-08.
(b) Kisan Credit Card Scheme was introduced in August, 1998.

(c) National Agricultural Insurance scheme is implemented in 16 states of India.

Which statement/s is/are correct from above ?
(1) Oy (@) 2 Only (0 (3) @and(b)  (4) allabove
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75. qrg vai fae

A i Fdwis AT devha -

(a) ﬁtfaﬁﬂﬁr:mﬁw (b) & e mfgdt

(c) dma e (d) e fad

wafeht e ;

1) (@) d @ @7 o

(B) (a), (b) 3 () A7A (4) e (c) A (d) SRR

Choose correct option :

In the context of Human Poverty Index :

(a) Long and Healthy Life Expectancy (b} Know}edge and Information
(c) Standard of Living (d) Social Standards

Answer options :

(1) (a) and (b} are correct " (2) (a) and (b) are incorrect

(3) (a), (b) and (c) are correct (4) Only (c) and (d) are correct
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76. WeEie Sieu ol

'’ (FTE)

(a) TERT (Yad) TRUIA®] FReT
(b) TR S GHRON F
(c) WRRTE RIER Se Haa
(d) FREA FE
it Sy

@ () (@ (@
O @ @ @)
2 @@ @) @) 0
(3 @ ) @ @
@ Gv) (W @ (i

Match the following pairs :

(a)

(b)
(©)
(d)

‘A’ (Law)

44 | A

&' (W)
() FREFEIE TGE0 A0 uEE s
(i) ST FEIOI
(i) WS T e
(iv) VSIS SO ARSI Siaonae! Nfaay

‘B’ (Provisions)

Maharashtra (Mumbai) Municipal Act (i) Control of accidents and pollution in

Maharashtra Land Reforms Act

Maharashtra Motor Vehicle Act

Factory Act

Answer options :

(1)
(2)
)
)

@ ® © @
O @ @ W
@ @ @ 0
(@ ) @ @
) @) @ @)

Factories
(i) Control of Vehicle pollution
(i) Maintenance of general sanitation

(iv) Restriction of conversion of
agricultural land for other purposes.
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77. Hawdm €. TEEA T gien geRTer gu=n e widia arelle sreian aeew e
(a) Vil SATIRFEAT SR RIS IaehArea] Sewmie Hed Y9,
(b) i RIS T HH HTL.
(c) TS UM H),
(d) I WHYT [aavEy Fesd qu.

qatet I

1) @3ab) @ ©Fd (3) W () (4) wHE )

The Second Green Revolution proposed by Prime Minister Dr. Manmohan Singh, does
not include :

(a) Helping Indian farmers participate in global agricultural trade.

(p) Minimize loss of crops.

{c) Improve storage of crops.

(d) Encourage foreign direct investment in agriculture.

Answer options :

1) @and®) () ©@and(@ (3 Only(@) 4 Only (d)

78. THIA T i

g FER e deeeie Qi SR vEiE i fosmret '3 1985 7 il
feeenl fras et :

(2) TR (ST TEW) (b) el (afrad s)

(c) G (HEWg) (d) SeEr (FAlew)

() TER (TUETE) () TR (TEH)

it IO ;

1) ©3E 2 @%@ () @3@. (4) W (g)

Choose mismatching group.

Indian Forest Department in association with National Waste Land Committee selected
certain districts for development and reclaimation of waste land in India in 1985 :

(@) Almora (UP) (b) - Puruliya (West Bengal)
(¢) Latur (Maharashtra) (d) Bellary (Karnataka)
(¢ Bastar (Chhattisgarh) (f)y Durgapur (Rajasthan)

(g) Sangargadh (Orissa)
Answer options :

(1) (c) and (¢) (2) (a)and (b) ®) (@ and (@ (4) Only (g)
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79. W AT IR § FIR T TAHST WRAATR! R0 T HI0AE A ?
(1) s, 1983 (2) waEr, 1974 (3) €U« 1993 (4) Hr, 2003

Which year SAARC Preferential Trade Area (SAPTA) agreement was signed by
SAARC country ?

(1) April, 1983  (2) January, 1974 (3) April, 1993  (4) March, 2003

80. MGl A, 2014 =0 FEATEM HE! fawm RS Teargar T8 YU HAwE AR, A
3TEATIIER T U T FrElws Hshowyam Aret faem fdwis, 2013 TOR o[ 187
TIent 135 =1 wHIHER AR, AFE! fom FEviam Head 90 %1 TR, 1 SV TUsrell
TSl 3Teret Al ?

O (2) 100 (3) 500 (4) 1000
In the Human Development Report, 2014 Norway ranks first with HDI Value. According
to this report, India ranks 135 out of 187 countries in terms of UNDP’s (United Nations

Development Programme) Human Development Index for 2013. What is the maximum
value of HD], which no country has succeeded in achieving it ?

M 1 (2) 100 (3) 500 4) 1000

81. AW areft Jedier WA wRwed feday, 2013 A% =uRfawgs glaw sufor fawmmeh defta
Hejoafaftaa Adeh Faftm 72 st M soanfawd wron PR, e Greiteris! o
ek TEeTEl T T ?

() Hifquaeh STGEHIA d€ U AU

(b) WY EAd T g Tdifauges STLEET I UM AN 39 T4,

() citfaoas st Frafa Ft w.

(d) e T

it Il ;

(1) %% (a (2) % (b) 3 (@) 0 (4) ¥ (d)
The Bali Ministerial Conference, December, 2013 taken agricultural issues more seriously

alongwith trade - facilitation and development issues. India has demanded in Bali
Conference, which one of the following important issue ?

(a) To increase agricultural subsidies

(b) Not to count food security expenses as part of agricultural subsidies

(c) To reduce export of agricultural goods

(d) Neither

Answer options :

(1) Only (a) (2) Only (b) () @ O (4) Only (d)
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82, YR faumi=n fo=m .

TR (1) @ 1951 =81 goid 3N Uielis IR 10 92 a1 e,

faum (1) mﬁamﬁﬁ#ﬁwﬁwﬁ%&ﬁmqaﬁtﬁmmmséw

 THeeret.

a3

(1) faum (1) A=, (1) 95

(2) faum () SR, (1) TF

(3) < faum 5=

(4) S faum Sl

Consider the following statements.

Statement (I) : In comparison with 1951, presently steel production has increased by
10 times.

Statement (II) : India receives essential help in steel production from West Germany,
Russia, England and France.

Answer options :
(1) Statement (II) is correct, (I} incorrect

(

Statement (I) is correct, (II) incorrect

3]

n—,
W

)
) Both statements are incorrect
)

—
N

Both statements are correct

83. W g fael.
SIS T 91 Ghedd I S0 SehiEl GHEY el 7

(a) THAW HeD (b) STTEE fm

(c) afygw fm (d) wgfay Az
Wiﬁi“\-ﬁﬁ‘ :

1 @ I ' (2) wa= (d)

(3) %9 (a) (4) USRI R

Choose correct option.
Which of the following factors does multmahonal corporation include ?

(a) Transitional Corporation (b) International Corporation
(c) Global Corporation (d) Multiple Corporation
Answer options :

(1) (a), (b) and () (2) Only (d)

(3) Only (a) (4) None of the above
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84, AR N0 SR FHEATIRO HIR AT Fedld
(a) 1947 BA 23 A GATT FANS Tl Fedl,
(b) IRETET 1994 W GATT Wy G fraedt 2.
() 1994 MEA 118 WM GATT & WHMR i,

Tt FrvR/A famy Y wtET /A2
1) (@)3b) 2 @90 @) BF() (4) K (b)
Consider the following statements about General Agreement of Trade and Tariffs
(GATT) :

(a) GATT was signed by 23 countries in 1947
{(b) India got the membership of GATT in 1994
{c) In 1994, 118 countries are members of GATT

Which statement/s is/are correct from above ?

(1) (a) and (b) (2) (a) and (9) (3) (b)and () (4) Only (b)

85. WW@TWmm%W@Eﬁamﬂmﬁmmmzom
T ey FOGR I,

(a) 14@%%@%%&@1%%.

(b) =, §ey, e onftn e A= 80% Aigul |iea .

Tt HIvR/d faur/3 9 anR/4d? .

(1) & (a) 2y (@49 (3) I (b) @) T AR

The National Population Policy, 2000 has suggested following national socio - demographic
goals to be achieved by 2010.

(a) Make school education upto the age of 14, free and compulsory.

(b) Achieve 80% registration of Birth, death, Marriage and Pregnancy.

Which of the statement/s given above is/are correct ?

(1) Only (a) (2) (a)and (b) (3) Only (b) {4} None of these

86. WIEHEUH! HIVE <N * AYAH doeqsn’ gsfug T 2

(1) IR (2) femg 3) 9SS (4) =M
Which of the following country does not belong to ASEAN ?
(1) Indonesia (2) Singapore (3) Thailand (4) China !
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87. drg wal frae.

(a) SHTel WS | FERT

(b) TISHIA YATS Hay

(c) IR qoft srefavar smar amefad

(d) T Eg o it ok

(€) T I TG T

it I

1) @) 2 ®).@©Fd

(3) 0 FE =R (4) =awdTgH

Choose correct option. | '

O‘bjectives of water shed management in India :

(a) Forestation and Tree Plantation

(b) Rain water harvesting

(c) Increasing capacity of ground w.ater level

(d) Digging trenches and water feeding

(e) To Promote agrobase industries.

Answer options :

(1) () and (e) (2)  (b), (c) and (d)

(3) All the above are correct - (4) All the above are incorrect -
88. INFTed WA THSH It TEd HIvreen S fogT o ?

1) U @ @) ewfmr @) EEW
Which of the following country has corporate farming system in modern times ?

(1) Russia (2) China {3) . America {4) Israel
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89. g e IO fahraer fady SR AvaTg SMer. W YEEfie e TR [aauEhide!
43 5% TIAFU T Tt ToreraTen Tl STeTsdl S JUaTel SHIetl. Shivwedl Geaiyesh dreafia

T faehraTer fomiy R SvaTg o ?
1 FUNREC RER E ] (2) OT=E YEaETe de
(3) HEE! Ygartts A (4) oTHUEl YuaEitE e

In the Five Year Plans had laid special emphasis on rural development. In one of the five
year plan 43 percent of total investment is made available for Integrated Rural
Development. In which five year plan had laid special emphasis on rural development ?

(1) Second Five Year Plan (2)  Fifth Five Year Plan
(3) Sixth Five Year Plan (4) Eleventh Five Year plan

90. WG WHERA WHR HEs(eh faao Saedd) ged SRy Sreiays o 78

(a) o< faw™ (b) gl fEma
(o) % - T frEEm (d) T =TI
ST HIVR/H faum,/ S T sng/a?
1) @3 {) (2 @3 @) ®3F() 4 (@3(d)

The public distribution system has adopted by the government of India. The features of
PDS are as follows :

(a) Child development (b) Dual prices
(c) Centre - state control (d) Foreign Trade
Which is/are incorrect from the above ?

(1) (a) and (b) (2) (@ and {9 (3) () and (o) (4): () and (d)

91. YEq foeRET YEIe ST HIN hell 2
" rved faee WU o1a1 faeR S AE TR IR o fewfan @ amel staAmn gwi

YUR T e O g’
(1) Feole Teamd ) Y
(3) . W@ (4) U e

Who has defined sustainable development thus ?

* “Sustainable development is that development that is likely to achieve lasting satisfaction .
of human needs and improvement of quality of human life”.

(1) Broodland Report {2) Raymond
(3) K. Parikh (4) Robert Allen
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92. AT Vil WY He Wieftet foraiwmdl 3wy Syrifor 3d :

(a) HARERA (b) TR fam

(c) Y FEIRYET (@) g oA

i HIVEl/HI THG TG R/ ?

1) @) @ ®IQ 6 ©IG @ @3

The Indian Council of Agricultural Research organise activities on the following

subjects :

(a) Horticulture l (b) Agricultural Credit

() Agricultural Marketing (d) Animal Science

Which above option/s is/are correct ?

(1) () and (b) (2) (b) and (¢) (3) (9 and (d) (4) (a)and(d) .
93. WRA WA TR TR GENe IHHATT A 308 :

(a) ST AR SNYFTh oA FRia i e 0.

(b) TSRS WL FOL. |

(c) Wdiure SATERY Wewre 2,

(d) TR ST oY W .

et IR/ vt s /A ?

(1) @) 2 ©@9F(d) (3) wH (b) (4 wH ()
Indian Institute of Foreign Trade is engaged in following activities :

(2) Training of personnel in Modern Techniques of International Trade.
(b) Conducting market research.

(©) Promoﬁng the agricultural import.

(d) Commodity surveys related to Foreign Trade.

Which option/s is/are incorrect from above ?

M @ad®) @ @add () Ony®) @) Only (9
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94, 2005-09 W FIAEHT FE Hered WG i srigwgm anie fawmEren sewiE ay SR
FHLOG A, o B AT

(a) Taoar< oot 9 W@ () T IRl

(c) HE Sy (d)y o gt

SeTh! HIVCI/ W TG AT AR/ 2

1) @3 2 ©9@d) (3) wH(b) (4) ™ (c)

Bharat Nirman Programme launched in 2005-09 which focus on following components
for development :

(a) Drinking water and sanitation (b} Rural housing

(c)  Built-up highway (d) Rural electrification

Which is/are incorrect option/s from the above ?

() @and®) (@ (@and(d  (3) Only() (4) Only (9
95. @ qafy fae.

T Felles AR welcaed fawmamea =)
(a) TUW ATRYST! T

(b) A Yegifra =l das

(c) == TN EeE

(@) A I v Hae

(e) €A T ISR wiwa

Wt 39T
1) fa), (b) 9 (c) 2 D9
(3) 0w §d dra oA @) 9 TE I I

Choose correct Option.

About horticulture development under National Horticulture Mission :
{a) Healthy market

(b) High profit crop cultivation

()  Use of high technology

{d) Development of contract farming system

(e) Research and Scientific Process

Answer options :

(1) (a), (b) and () (2) (d)and (¢)

(3) All the above are correct (4) All the above are incorrect
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96. WX W I AT hiear ST AT ST SRl et T SeqIesh Sershail L&l SUATHISt
(1) fwRA enurqE feeq - (2). duf feam fwa
() .THEE T fEha (@) Taaw fema

is the price fixed by the central government to protect the producer - farmers

against excessive fall in price during bumper production years.
(1)  Minimum support price (2) Statutory minimum price
(3) Procurement price : {4) Issue price

97. 31 9, 2013 EUE WEN=E & frafya servet 1 T HNTRUS]
tfeTa e, .
(1y 278,577 {2) 327, 826 (3) 228,623 {4) 305, 603
In Maharashtra on 315t March, 2013 there were _ APMCs with main market
and sub market.
(1) 278,577 (2y 327, 826 (3) 228, 623 (4) 305, 603

98. TN Hiy fryor 7 G wfiwg _ Tht i el SR O 49 e SR
(1) 1974 (2) 1984 (3 1994 (4) 1986
Maharashtra Agricultural Education and Research Council came into existence in the
year with headquarter at Pune.
(1) 1974 (2) 1984 (3) 1994 (4) 1986

99. WA GETIH v FHicHeS STAUFAHA Uil T8 el Jedred e ?
(1) did el (2) vad sl
@) eia i (4) - shidt
Which of the following revolution has resulted in self-sufficiency and surplus of
food-grains in India ?
(1) Yellow revolution {2) White revolution
(3) Green revolution , ~ (4) Blue revolution

100. T 3MER AeFsiaTa i Mo Wuv seres] herE oTdfera aTed.
(1) 320 (2) 470 (3) 450 (4) 385
In mid-day meal programme, primary school calorie intake should be cal.

(1) 320 2) 470 (3) 450 (4) 385
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101. IR A SEUR 3Hi® ($Fod) TG ™ HgEe! Wdd Jel faarm o

ETEF AR

(a) TRIRE greremedt b) T S (dea)
() TN (d) TIHHE T IRE
it 3N ;

W) (@) (@), (@ Taum e

(2) 9% (a) faum amg o

®) (@) (), (o) e = s

@ @, ®), () (@ frr g e

In estimating calorie requirement following factors are taken into account :
(a) Physical activity (b) Body size composition

(c) Malnutrition (d) Climate and environment
Answer options :

(1) (a), (<), (d) Statements are correct

(2) Only (a) Statement is correct

(3) (), (b) and (c) Statements are correct

(4) All (a), (b), (c), (d) Statements are correct

102. Wuagmamﬁqém IATY TgeareA FIFRITEN SRR, 1969 Wel ** oTyyvlt o o'’

TE OGRS, AT A Heao™ Teed T 3.

(a) W ELIM M (b) &I frEuRE

(c) & wfds (d) =t qum gsEd
Tgidt 39T :

(1) (a) faum <@g 3R (2) (@) faum drg 9
(B) (o) foum arg 3R (4) (d) faum arg ame

The “Lead Bank Scheme” was launched on the recommendations of the study group
appointed by “National Credit Council” in October, 1969 under the Chairmanship of :

(@) Prof. DR, Gadgil (b) Mr. Shivaraman

(¢) Mr. Narsimha (d) Mr. AM. Khusro
Answer options : -

(1) (a) Statement is correct (2) (b) Statement is correct
(3) (c) Statement is correct (4} (d) Statement is correct
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103, i Som yu ¥ S FH SOREaY TF SR AR, IS Sifts guad
VuIEe T BT
(1) 50780 3™ A . (2) 547484 @Y T
(3) 64785 IUAY <A 4) 804100 STAH
Soil erosion is one of the reasons for low productivity of land. The annual average loss of
nutrients from soil due to soil erosion is .
(1) 5.0 to 8.0 million tonnes {2) 5.4 to 8.4 million tonnes
(3) 6.4 to 8.5 million tonnes (4) 8.0 to 10.0 million tonnes
104, I S HEUAEE! BRI gRIGHAGA (DASH) 3 M.
1) T d97 w1 2) fier a7 I
(3) WSS YA HHl (4) WEE BT O
The Dietary Approaches to Stop Hypertension (DASH) are diet.
(1) Low Salt intake (2) Hyper Salt intake
(3) Low Sugar intake (4) Hyper Sugar intake
105. TTHIO TAEST= SeTal Hvdr=al JevaH VR SRA 99 1989 el ' Sy 9dqEa e
[iFdr="" (Agricultural Credit Review Committee) TG heil. AT WTd SHeAs
&,
(1) TE. dpheua (2) TUH G
(3) S e (@) SOAdEt FHIviE AR
To take the review of rural credit, Government of India has appointed “ Agricultural Credit
Review Committee” in the year 1989 under the Chairmanship of :
(1) S.B. Venkatappiah (2) AM. Khusro
(3) D.R. Gadgil (4) None of the above
106. ? whig 3@ deo T=a fasmen vl Sva v S,

(1) AAHFTES (2) TR
(3) TEEISH 4) TR g (fafiaa wfm)

alone can work as a source of energy for central nervous system.
(1) Monosaccharide (2) Glucose

{3) Glycogen (4) Spare proteins
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107.

108.

56 A
faearen icfter Yoaifiies G wal= W S 3
(1) 9o q=aftew e - (2) fedta deanfis a9
(3) T UaEIyeE FeE (4) a0 T4 &
Irrigation was given the highest priority in .
(1)  First five year plan (2) Second five year plan
(3) Third five year plah (4) All the above
‘g1 SRTF UfHET (SHC) FI9F1 MR WERT & Ficl 3IGT 2016 =0 F5d Afdawmeud
"X Ued AUgE AW S e
(1) 400 ®iE (2) 468 ®E
(3) 500 FE (4) 568 FIE

‘Soil Health Card’ is a scheme launched by Govt. of India with allocation of ¥
in 2016 union budget.

(1) 400 Cr. (2) 468 Cr.
(3) 500 Cr. (4) 568 Cr.

109.

STl TAENH TSI FAodETdt MR Ve | anfdfs wmaw GfiFdt '’ (Financial Inclusion

Committee) oAl STeaEaEeh TG FIOEN AT,
- (1) Sl 9l treA 2) W IR MeilD
@) 4t T fEE (4) TUH gH

In order to address the issues of financial inchlsion, the Government of India constituted
a “Committee on Financial Inclusion” utider the Chairmanship of

(1) Dr. C. Rangarajan {2) Prof. D.R. Gadgil
(3) Shri. M. Natasimhan {(4) AM. Khusro
110. snfdE st Hevidar s e oA Fia forar anfor 93w (NMAET) o
1) 9 S d=arfiE dierem @) 10 9 TaaiiiE deeren
(3) 11 & JaEfiE Fee=n (4) 12 o Jaafve A

The Cabinet Committee on Economic Affairs has approved the implementation of the
Nationial Mission on Agricultural Extension and Technology (NMAET) during
period.

(1) 9% five year plan (2) 10t five year plan

© (3) 11™ five year plan (4)  12*" five year plan
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111, YRAME ' FEumht’ 30 IiFI TR Fd 5 -
(1) 3t - erEgis b ik
2) BESINA GeERe - il faf=a giswa
(3) ala e iwdgh
(4) NRAWER Tl 9aR FIOA YhEd AR
India produces "heavy water” by the reactions :
(1) ammonia - hydrogen exchange reaction
(2) hydrogen sulphide - water exchange reaction

(3) both the above
(4} In India, we don’t have any heavy water plants.

112. WA @eiatst Sival ' 3feam foa J=mem e faedm' 799 28 ufiiE, 2016 o
e e I ULTH. 0 T8 J99 kel ?

(1) SR TATHETHE. - 1 50. (2) MHANTATHTE. -1 CH.

(3) FESHTATHH. -1, (4) MR TATHTH. - 1 TF,

India entered GPS Club by launching which of the following ’Indian Regional Navigation
Satellite System’ recently on 28 April, 2016 ? '

(1) IRNSS-1G (2) IRNSS-1H
(3) IRNSS-1K (4) IRNSS-1F

113. 9o 31 301 994 Tt A9 HEE O 6y w1 ) ?
(1) (@ I) o (T&T )

(2) (@A) « (qa W)Y

(3) (WAI) o (FET )2

4) (9EF 3I) = (9o WA )?

What is the mathematical relation between wind power and wind velocity ?

4

(1) (wind power) = (wind velocity)

(2) (wind power) = (wind velocity)"?
(3) (wind power) = (wind velocity)?
(4) (wind power) = {wind velocity)®

HeAT FTEES T /SPACE FOR ROUGH WORK
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114. TH0, 2019 - 20 7 e ‘AR - 17 & A0 Iy FwEATEES T AL

®
@

3

(4)

St I TR i Iuee FO F feodl/ el Soeme) W STe Hu,
nﬁéﬁa;ﬁwﬁﬂmmm

8RO plans to carfjr out the mission “Aditya - 1" in 2019 - 20 for :

L
@)
3)
)

the disaster management
providing more Telecom lines and Television/Radio broadcasting facilities
the study of dynamic Solar Corona

the identification of militant’s sites

115. i N FAPY (BEE) Wiefterta SIve waiamss w2

(1)
)
3)

(4)

S el e SR TN g ST O,
R Sy g faaTor woredt gaeErsT.
R rfeErEEET g HH e 4 TR IS AT $Re | S

Kok Ty

391 qrareht e waeidt st gla Iqesy S,

The Bureau of Energy Efficiency (BEE) works for the mission of :

(1)
(2
-3

(4)

Creating infrastructure to carry out research in the field of power sector.
Improvement of transmission and distribution system of power.

Developing policies and strategies for proper utilization of energy, to reduce pressure
on the Indian economy.

Providing term-finance to projects in the power-sector field.

WHe HTIE W /SPACE FOR ROUGH WORK
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116. ‘T’ <t wEeh ¥R 9 WD wrel Kelel s, wdE OF SiE g AR, @ sl
(1) fowT IRvR €8 4R - Taeeduaqm
(2) W iR AR - dmE
@) wfegwErdEmdm - Al
4) TR MYRE FX - weEfR
Some important centres of ISRO and places are given below. Of these, one is wrong.
Identify the pair.
(1) - Vikram Sarabhai Space Centre -  Thiruvananthapuram
(2) Space Application Centre - Bengaluru
(3) Satish Dhawan Space Centre - Shriharikota -
(4) ISRO Propulsion Centre - -Mahendragiri
117, TR SR T SRR Y TSR el o w2
(1) ifes == (2) dAFA TR
(3) TEERET e (4) oaw =
Which of the following factor influences utilization of Bio-mass as d source of energy ?
(1) Material factor (2) Technological factor
(3) Environmental factor (4) Allof theabove
118. sArTE 7 FHaen 9 ¥ e v srEe ?
(1) = (CHY . (2) FETSENFES (CO,)
(3) EEFNH (Hy (&) TEG RS (H)S)
Which gas is dominant in the Bio-gas plant ?
(1} Methane (CH,) (2) Carbondioxide (CO,)
(3) Hydrogen (H,) (4) Hpydrogen Sulphide (H,S)

HEAT HIFTETS AT /SPACE FOR ROUGH WORK
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119. 45X wefeen s () a4 ST
(1) A-ZWZNdZ N 2) AVEREHEA-Z I
(3) A-ZYR A (4) ZVWRWdA-Z3ZN

A nucleus designated by %X contains

(1) A - Z protons and Z neutrons (2) A protons and A - Z neutrons
(3) A -Zprotons and A neutrons  {4) Z protons and A - Z neutrons

120. Gl Sivdl YRGE 3ung o foened Soue T1d ?

(1) A (2) o™ (3) JgorEz (4) UEIANTHES
Which of the following Indian satellite is not a student satellite ?
(1) SARAL (2) ANUSAT (3) YOUTHSAT _ (4)  SRMSAT

121. Y& YR GR SR Toar s S ST @ren Seheriht uda Se=varEid

- AR 93 R
(1) el (2) daEE TEd
@) wHIEW (4) AR THE AR
In the box type Solar Cooker, if the water amount is-reduced then the time required to
reach the boiling point will :
(1) increase ' ‘ (2) remain same
(3) reduce ’ (4) none of these

122, TEeiteis! Hiowdr fSeand AR 9rg 39 2 98 9 e’ snfidie wem yaaaeht 9
anferardiet 9UW ‘WS IS Yheq ' aTed ?
(1) frearagm () fowmErem
(3) forefrovesh | (4) =

In which district the important projects of renewable ehergy such as, ‘Solar pond’, Asia’s
first wind farm and Asia’s first tidal project are located ?

(1) Thiruvananthapuram (2) Vishakhapatnam
(3) Tiruchirapalli (4) Kutch

FoAT HMEE AN /SPACE FOR ROUGH WORK
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123. YR AYRGH IHETT Erear=1 1 el Fen ?

1) 1980 (2) 1982 (3) 1985 4) 1970

In India, the department of non-conventional energy sources was set up in the year

(1) 1980 2) 1982 (3) 1985 @ 1970

124, WA T g HI8T St (NRSA) =1 Aot fadm v 2
(1) it feesh () ST (3) BeTEg (4) Hag
In India, the National Remote Sensing Agency (NRSA) was set up at
(1) New Delhi (2) Bengaluru (3) Hyderabad (4) Mumbai

125. SEIUY 2020 94 IAfvash 391 @A I STV GRS SUHY :
(1) 4 500 MWe FBRs (2) ¥R 500 MWe FBRs

(3) 9 500 MWe FBRs (4) T 500 MWe FBRs

In VISION 2020 the Department of Atomic Energy envisages a series of :

(1) Three 500 MWe FBRs (2)  Four 500 MWe FBRs
(3)  Five 500 MWe FBRs. (4)  Six 500 MWe FBRs
126. YR f5hdl 319 919 3.9, 2010 2 A& WiRkdreh ' i1 TR Hiel o ARl
faenfd 01" &1 WIS {UaTa 3.
(1) Ty S (2) T® Taéﬂtﬁ
(3) U Ta=Y @) oI X

was awarded the 2010 Noble Prize in physiology for “development of human
in vitro fertilization therapy’.

(1) William Campbell {2) Ralph Steinman
(3) Robert Edwards {4) Andrew Z. Fire
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127. Bl T A 97 Sihice Ho-e A 3T,

(1) 255.0.0.0 (2) 255.255.0.0

(3) 255.255.255.0 (4)  255.255.255.255

is a default subnet mask for a class A.

(1) 255.0.0.0 (2) 255.255.0.0

(3) 255.255.255.0 (4)  255.255.255.255
128. E.FLTAE. (ICMP) =1 W@ S .

(1) TR 7 SRARfE der (2) - srefEm

(3) ERaEm (4) TSR THE ARG

ICMP is primarily used for
(1} error and diagnosis functions (2) addressing

(3} forwarding (4) none of the above

129. ADSL = qvi fowia €9 .

(1) Asymmetric Digital Subscriber Line
(2). Asynchronous Digital Subscriber Line
(3) Asynchronous Digital Serial Line

(4) Asynuﬁetric Digital Serial Line

ADSL stands for .

(1) Asyrhmetric Digital Subscriber Line
{2)  Asynchronous Digital Subscriber Line
(3)  Asynchronous Digital Serial Line

(4) Asymmetric Digital Serial Line

130. FRAA A1 JF.N.AH 72 FTald FHL0 T HH TNATH! DIV Hd ?

1) V@R (2) 3) waHEdE wR (4) T EE
Which of the following device translates hostnames into IP addresses ?
(I) DNS server (2) Hub (3) DHCP server (4} Firewall

FHoAl HMHTE 90N /SPACE FOR ROUGH WORK
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131. Yt v gty gRa @d s 91 §edd Hied e ?

(1) ER-wim (2) Sferdifew sfesw
(3) el (4) Ywatrn dgE
Which of the following is not included as green manure crop ?
{1) Sun- hemp (2) Aczaridicta Indica
(3) Cluster beans (4) Sesbania rostrata

132, T feciem fameuitat srowea Sa fawran gaq Sifawargs o 24 T ?

(1) e fay (2) s fay
(3) IEH (4) wEAEEH
Which of the following is not of Microbial origin ?

(1) Aflatoxin (2) Botulinum toxin
(3) Ricin (4) Fumonicin

133. WA Sl ERESH Sinaars SHcAars! IquEt Iu, HIe! SR - 2 I SeqEEat
e IUAT R _ qre ISTER O

(1) Warese Siastol @)
(3) s (4)  FLEDE IR LT G390

Use of mice for production of human tissue plasminogen activator and use of rabbits for
production of human interleukin-2 are examples of

(1) In vitro replication (2) Pharming
(3) Transplantation (4) Recombinant RNA technology

eHeedl RTHTETS W /SPACE FOR ROUGH WORK
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134. TEIA i/ sfiedl 33 Ford ofwy/ofed duw. s yamme Rnald fawtag Sl

3R ?

() T (b) HFRH

(c) H={l PR (d) TR

it Y

(1) (a) 3 () (2)  (b) 3T (d) (3) W (b) @) (a) =0fo (d)

Which of the following drug/drugs have been indigenously developed by CSIR
laboratories ?

{a) Risorine (b) Acuretic
(c) Memory sure (d) Benefix
Answer options :

(1) (a) and () (2)  (b) and (d) (3) Only (b) (4 (a)and (d)

135, YEiaie! waig 4ng qaig fRae -
fen el weet ggd @ HIAEE.
(1) o6t 9IgY i A=t ol
(2) Rl ST TET i EeraEr
(3) U A R wRw
(4)  waf Infor v
Choose the most appropriate option from the following :
The human pattern of sex determination is followed by :
(1) flowering plants and free ranging animals
(2) birds, moths and butterflies

(3) Dbirds as well as flowering plants

(4) birds and moths

Fol HHIETS SR /SPACE FOR ROUGH WORK
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136. Ui Ieq1eA, fosht o Arel @@ A1 Hid 4T ELT 7 |9 2015 U4 w0l
ofgen St aftafda sl wvE wra feef
(1) =g (2) ¥ (3) ot (4) faenfymn

was one of the first genetically modified animal to be approved for commercial
production, sale and human consumption by USFDA in 2015.

(1) Tuna (2) Salmon (3) Zebra fish (4) Tilapia
137, RS TR s 71 3 ritg T S W gEehTaid e,
(1) T (2 SEET
() WfEm (@) FAEE
is associated symbiotically with non-leguminous plants and is known to fix
nitrogen.
(1) Rhizobium (2) Azomonas
(3) Frankia {4) Clostridium
138. TieufaRet 9 fsiaEise TonmiaEt afeq oo S0EA € o Al FEd
e

(1) B SRS TR e dritsistes
(2) Wfefaeds smaran SR

(3) WEHEHIgR fHeom wim

() i fiRd=

Sericin that is known to have antioxidant as well as antifrosting properties is nothing but

(1) A bioactive from serratia species
(2) A derivative of salicylic acid
(3) A protein from silkworm

(4) A derivative of spectrin

oAl T 9P /SPACE FOR ROUGH WORK
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139, Ul faw sAfavasiar Triierden! Hivran TR GREi=n ST Fefl s 2

(1) oo et (2) gemEE Wi

@) Wfafem s (4) Hsrer wEw

Which of the following fungus is used in preparation of Roquefort cheese ?

(1) Aspergillus species (2) Pseudomonas species

(3) Penicillium species (4) Candida species
140, TH.TH. S AR THiREr o T09 EiE e fEee $8 3 39 fe amR.

(1) ®r (@ 3w @) feeet (4) v

The Peninsular and Marine Fish Genetic Resources center (PMFGR) of the NBFGR is housed

in__ )

(1) Kochi (2) Mumbeai (3) Delhi (4) Lucknow
141, TR ST Yol WATR: S Ot U aefaea @ T freefaem.

(1) e & ) fea=pm (3) Tat o (4) TETII HhHLT

Cells derived from were the first human cells to grow well in the laboratory.

(1) Cervical cancer (2) Lymphoma (3) Human foetus (4) Leukaemia

142.

ﬁ@ﬁm‘lﬂfﬁ:
(1) @ 94 Tfeaten gudy et Sseer e
(2) & ud i Iuge WSgi=n Wi TR

| 3) TG frem-whRd e aRe

(4) T gEE A SeTHE qaaE FH 6

Complete the following statement :

Navapur turdal, Solapur pomegranate, Waigaon turmeric
(1) are all examples of genetically modified crops

(2) all form a part of Geographical indication registry
(3) all are pest resistant varieties

(4) all are rich sources of Vit. A

T FMMEIS AT /SPACE FOR ROUGH WORK
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143, o Wi ok, sSEia deu® T RS Sl edivl 3.4, 1940 el dgad gHt urRi=n
HEHri B HMYF g B9 Hel.

(1) § faras (2) WENTIIEST el
(3) oid:EE W (4) @ SfEF I

Sir Fredrick Banting, the Nobel-Prize winning discoverer of insulin, established the first
research centre in 1940, with the help of corporate sponsors.

(1) Genomic (2) In vitro fertilization

(3) Endocrinology (4) Private biological weapon

144, Taum ot %1 :
Fee, AT 7 T .
(1) & s ARuiten T 3 A qemed S
() =W ey IR fwardem o
(3) I A TN SR YA R IWE O wEdl
(4) ® qgeifas g vearr @ Hew TR
Complete the statement :
Selenate, Arsenate and Sulphur
(1) are group Il elements in the periodic table
(2) - have intrinsic ;:atalytic actvity
(3) can be used by microorganisms as termjnal electron acceptors

(4) are a part of microbial cell membrane

HEAT HIASI \RT /SPACE FOR ROUGH WORK
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145, MERGT qqrﬁ?ﬁm a1 :

(1) ¥ vl v geiaasi=ed s e I e
(2) T uiffe RISEIS THaTeTaiwed shisH Td I B

- (3) T Frifes TR gRetwsieed sem e I e
@ W friife geaivEs THeiSasHE e e I L
Agrobacterium tumafaceins is a
(I} Gram positive soil bacterium causing crown gall disease in dicots
(2) Gram positive soil bacterium causing crown gall disease in monocots

(3) Gram negative soil bacterium causing crown gall disease in dicots

(4) Gram negative soil bacterium causing crown gall disease in monocots

146. ‘@ @’ WA 3T A i awd s f1d T (qad) g Fiifas wie &

1) 135 fE. 2) 235 &AL (3) 335 fo.dh. (4) 435 fFAL

Mithi River (Mumbai) originates in the Vihar Lake Area, flows southwards, has a total
geographical length of about .

(1) 135 km (2) 235 km 3) 335 km (4) 435 km

ool HIHTETE AT /SPACE FOR ROUGH WORK




A 69 HO8

147. IPCC =1 SRR i TaaiisR efa e o1g Frfldsian sroia srdear wrarmia
et gl e et o

71 g B 9 IS Teel B
(@) SIETER §HATET AR (CO,)

(b) YR SHIA, M@ I (CH,)

() e ffdd (o,

(d) SiTeRTE, STEEEgAM &9 (CO,)

it ‘a?ﬁ‘ :
1) (9. ®) (d), @) @) (@) @ ®) (D)
(3)  (d), (9 (a), (b) 40 (9 (@), d) ()

Listed below are the sources of global emission of green house gases from anthropogenic
sources ([PCC Report).

Rank these sources in increasing order of emission percentage.
(a) Burning of fossil fuels (CO,)

(b) Wetland, Rice Cultivation (CH,)

(c) Cement production (CO,)

(d) Deforestation, decay of biomass (CO,)

Answer options :

1) (©, (®) (@) (@) 2) @ © ®).(
(3 () (9 @), O @ (. @) @) b)

148, qammmwmﬁm@mmuﬁmm
(1) Hiewey (2) femle (3) EuA (4) SEBI9

is similar in mechanism to Landslide involve a large amount of ice, snow and
rock falling quickly down the mountain,

(1) Solfatara (2) Moraine (3) Avalanche (4) Agquiclude

Hedl HIATHTS! S /SPACE FOR ROUGH WORK
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149. ¥ 3G &Y (GAE, AR @ faweh Ko faym ara saftr 9 v e

@)
(b)

(©)
(d)

T e 9.0 wagl foet yHomeR Aiefae et

IS et anfor &) TeMTREE S 11 ¥ rRuegeie Ssien fasheid
e,

Yehare foaelt yeat= wea 8 e 9 SoTer.
& ey 28 Teday, 2004 VsH ween

it s

@
2
G
“)

Read the given statements about Banda Aceh Earthquake (Sumatra, Indonesia) and choose

Fae faum (a) &f (b) SRS e
%o faum (b) 3uftn (c) SR R
F9@ faUM (a), (b). o (c) SR em%a
o faam st s

the correct option.

(@)
(b)

(d)

The earthquake measured 9.0 on the Richter Scale.

It devastated coastal communities in Indonesia and all 11 other countries in the

_ Ind‘ian Ocean.

Thfe boxing day earthquake shook the earth’s crust for eight minutes.

An earthquake occurred on 28 December, 2004,

Answer options :

(1)
(2)
)
(4)

Only statements (a) and (b) are correct
Only statements (b) and {c) are correct
Only statements (a}, (b) and (c) are correct

All statements are correct

oAl FHINEE A0 /SPACE FOR ROUGH WORK
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150. GIEHETYh! IVl HROMS sFR fma g2 ?

(a) wTeIArS

(b) ~oTETHEE 38F

() SIg=Ie SR JowrT= ¢
(d) =Red= wd
et e

(1) W @ @ W@ @
Landslides occur due to :

(;) Deforestation

(b) Volcanic eruptions

(c) Weakening of slope by heavy rains

(d) AIl the above

Answer options :

(1} Only (a) (2) Only (d) ()

HOS8

@aE) @ @

@and(®) (4 (a)and ()

-oflo-
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ol — (98 1 967 @....)

@) weTfEae fafed Soew fafre Srfe = #m (3% 9%) %04, TeTyferreafiiaa Ieafrhe
T HIEER Hot H1H FOE § F FOAEn RIH FO TR, FR AMS TEe G igER SHIAIHR
AT W e e B O e sy 82" AR RESTHR BRaE
Froad Ao G SN g FHI UF A9 O SfET 9l UE R e Sgre fes
5 i

©) T TS FE fafta $90 3% TTeRd THEane § TTiEE W aie ThereRE
A I GREET] ST, W GHET ShayeTeY Soargel SHEENe aNued Seuiaa e Wri-1

TUAGEHESE A T W Ut Ay MR
AT U9
T FEE 201, A 90 TR HOGRIE R e T ¥ 2
' 1) Tw T aed @ ST fEEe
@) T YA 1 (1) T eSS

W . 201,

W T A I (3) T AR T O R e W A I )" o A
WIATHIAIG Fe . 201 TGS Iat-Fre ' (3) " ¥ e i Saifha e qrafad sqeen
3.

oNON NO

muﬁﬁmﬂmﬁeﬁammwmmwmm
STORTAT o W YRS Tafig ads quiun SEied wE SEaEl, et
Tad FIEAT YIS Aol arwrs, e O v U 9 T
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